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discussion on Jpsi to inv.

• could not repeat the statistical uncertainty of yield given by Qian.
• Dayong prefer use binominal-uncertainty, rather than sqrt{N}
• But neither formula could repeat the value in memo.
• may be Qian calculated it mistakenly.?   OR  my understanding is not 

right.....



plan next week

• Jpsi to inv.
– make sure calculate the statistical uncertainty 

of the yield correctly.
– release memo

• ChicJ to  gam inv. 
– reply comments collected on Collaboration 

meeting
– plan to give a feed-back report within two 

weeks on NPG meeting


